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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 7 rFkk iz'u 38 gSaA  
Please make sure that the printed pages in this question paper are 7 in number and 

it contains 38 questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj rFkk    lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 
• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do not strike 

the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    
Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i) iz'u Øekad 1 ls 3 esa ls dksbZ nksnksnksnks iz'u djsaA 'ks"k 'ks"k 'ks"k 'ks"k lHkhlHkhlHkhlHkh iz'uiz'uiz'uiz'u vfuok;Zvfuok;Zvfuok;Zvfuok;Z gSaAgSaAgSaAgSaA 

  Attempt any two questions from question numbers 1 to 3. Rest are 

compulsory. 

 (ii) izR;sd iz'u ds vad mlds lkeus fn;s x;s gSaA 

  Marks are indicated against each question. 

 (iii) vkids mÙkj vadkuqlkj gksus pkfg,A 
  Your answer should be according to marks. 

1. Ldwy ds ID dkMZ dks cukus dh izfØ;k fyf[k,A 5 

Write procedure for preparation of school ID card. 

2. vk/kkj ,UjksyesaV izfØ;k dk o.kZu dhft,A 5 

Explain Aadhaar enrollment process. 

3. Qkby izkslsflax flLVe dh gkfu;ksa dk o.kZu dhft,A 5 

Explain the disadvantages of file processing system. 

4. dk;Z{ks= esa lqj{kk lqfuf'pr djus ds rjhds fyf[k,A  3 

Write ways to ensure safety at workplace. 

5. mnkgj.k lfgr MkVkcsl esa iz;qDr gksus okyh fofHkUu izdkj dh ^dh* dk o.kZu dhft,A 3 

Explain with example various types of 'keys' in database. 

6. Mªkbfoax ykblsal cukus ds pj.k fyf[k,A 3 

Write steps for preparation of driving licence. 

7. vkbfjl }kjk igpku ij uksV fyf[k,A  3 

Write note on iris recognition. 
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8. dk;Z{ks= dh lqj{kk ds ewy oLrqfu"B fyf[k,A 3 

Write basic objectives of workplace safety. 

9. dEI;wVj vxksZuksfeDl D;k gS \ 2 

What is computer ergonomics ? 

10. lfØ; :i ls lquus esa xfrjks/kd D;k gSa \ 2 

What are barriers to active listening ? 

11. eKYC D;k gS \ bldh vko';drk D;k gS \ 2 

What is eKYC ? What is its need ? 

12. psgjs dh igpku djus esa pqukSfr;k¡ D;k gSa \ 2 

What are challenges in face recognition ? 

13. dk;Z{ks= lqj{kk D;k gS \ 2 

What is workplace safety ? 

 [    oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    ] 

[ Objective Type Questions ] 

14. UID dk iw.kZ :i -------------- gSA 1 

Full form of UID is ............ . 

15. fLuQj lkW¶Vos;j dk mi;ksx ---------- dks ekWfuVj djus ds fy, gksrk gSA  1 

Sniffer software is used to monitor .............. . 

16. RAID ------------- ds vlQy gksus ij gksus okyk MkVk ds uqdlku ls cpkrk gSA 1 

RAID protect data loss due to ............ failure. 
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17. MkVkcsl esa ,d fjdkMZ dks ------------- Hkh dgrs gSaA 1 

A record in a database is also called ............... . 

18. DBMS esa ,VªhC;wV fdlh ---------- dh fo'ks"k izksiVhZ dks ifjHkkf"kr djrs gSaA 1 

In DBMS, attributes define particular property of an ............ . 

19. MkVk vo;oksa dk laxzg tks fd ^jks* vkSj ^dkWye* ds :i esa laxfBr fd;k tkrk gS] -------------- 
dgykrk gSA  1 

A collection of data elements organized in terms of rows and columns is   

called ................. . 

20. ,d fØ;k ………….. dk o.kZu djrh gSA 1 

A verb describes an …………… . 

21. odZ'khV dk laxzg ………….. dgykrk gSA 1 

A collection of worksheets is called …………… . 

22. JPEG dk iw.kZ :i ……….. gSA 1 

Full form of JPEG is ……….. . 

23. LDA dk iw.kZ :i ……….. gSA 1 

Full form of LDA is ……….. . 

24. OCR dk iw.kZ :i -------------- gSA 1 

Full form of OCR is ............ . 

25. PCA esa fn, x, psgjs ds fp=ksa dks ------------- psgjksa esa cnyk tkrk gSA 1 

In PCA, given face images are converted into ............ faces. 

26. PSK dk iw.kZ :i -------------- gSA 1 

Full form of PSK is ............ . 
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27. CIDR dk iw.kZ :i -------------- gSA 1 

Full form of CIDR is ............ . 

28. ICT dk iw.kZ :i …………… gSA 1 

Full form of ICT is …………… . 

29. LizsM'khV dks fizaV djus dh 'kkVZdV ^dh* ……….. gSA 1 

(a) Alt + P (b) Ctrl + P 

(c) Alt + S (d) Ctrl + S 

Short cut key to print a spreadsheet is ............. . 

(a) Alt + P (b) Ctrl + P 

(c) Alt + S (d) Ctrl + S 

30. lapkj.k ,d ……….. rjQ dh izfØ;k gSA 1 

(a) ,d  (b) nks 

(c) rhu  (d) pkj 

Communication is a ............. way process.  

(a) One  (b) Two 

(c) Three (d) Four 

31. fQaxjfizaV fjt+ ds ewyr% ……….. iSVuZ gksrs gSaA 1 

(a) 2  (b) 3 

(c) 5  (d) 7 

There are ............. basic patterns of fingerprint ridges. 

(a) 2  (b) 3 

(c) 5  (d) 7 
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32. izFke UID uacj ……….. o"kZ esa tkjh fd;k x;k FkkA 1 

(a) 2000 (b) 2004 

(c) 2008 (d) 2010 

First UID number was issued in ............. year. 

(a) 2000 (b) 2004 

(c) 2008 (d) 2010 

33. Hkkjr esa ikliksVZ] ikliksVZ ,sDV ……….. ds vuqlkj tkjh fd;k tkrk gSA 1 

(a) 1950 (b) 1960 

(c) 1967 (d) 1990 

In India, passport is issued under passport act ............. . 

(a) 1950 (b) 1960 

(c) 1967 (d) 1990 

34. ,VªhC;wV dh LohÑr oSY;w ds lsV dks ……….. dgrs gSaA 1 

(a) Mksesu  (b) dkfMZusfyVh 

(c) Viy  (d) fMxzh 

A ............. is a set of permissible values of an attribute.  

(a) Domain (b) Cardinality 

(c) Tuple (d) Degree 

35. My SQL MkVkcsl ……….. o"kZ esa ik;k x;k FkkA 1 

(a) 1995 (b) 2001 

(c) 2004 (d) 2012 

My SQL database was found in ............. year. 

(a) 1995 (b) 2001 

(c) 2004 (d) 2012 
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36. ,d LizsM'khV Qkby dh fMQkYV ,DlVsa'ku ……….. gSA 1 

(a) .odt  (b) .odp 

(c) .ods  (d) .png 

The default extension of a spreadsheet file is ............. . 

(a) .odt  (b) .odp 

(c) .ods  (d) .png 

37. lfØ; :i ls lquus ds ……….. pj.k gksrs gSaA 1 

(a) 3  (b) 4 

(c) 6  (d) 5 

There are ............. stages of active listening.  

(a) 3  (b) 4 

(c) 6  (d) 5 

38. LizsM'khV esa tc ,d ls T;knk lsy lsysDV fd, tkrs gSa] rks mls ………….. dgrs gSaA 1 

In spreadsheet when a number of cells is selected, it is called …………… . 

ssss    

 


